
Formula Sheet for PSYC3450: FINAL EXAM 

 

𝑥̅ =
∑ 𝑥

𝑁
 

 

𝜇 =
∑ 𝑥

𝑁
 

𝑠 = √
𝑆𝑆

𝑁 − 1
 

 

𝜎 = √
𝑆𝑆

𝑁
 

𝑧 =
𝑥 − 𝑥̅

𝑠
 

 

𝑧 =
𝑥 − 𝜇

𝜎
 

 
𝑥 = 𝑥̅ + 𝑧(𝑠) 
 
𝑥 = 𝜇 + 𝑧(𝜎) 

 
 

𝑆𝑆 = ∑ 𝑥2 −
(∑ 𝑥)2

𝑁
 

 

𝑆𝑆 = ∑(𝑥 − 𝑥̅)2 

 

𝑆𝑆 = ∑(𝑥 − 𝜇)2 

 
 

 

𝑠2 =  
𝑆𝑆

𝑁 − 1
 

 
 

𝜎2 =
𝑆𝑆

𝑁
 

 
𝑦 = 𝑏𝑥 + 𝑎 
 

𝑏 = 𝑟 (
𝑠𝑦

𝑠𝑥
) 

 
𝑎 =  𝑦̅ − 𝑏𝑥̅ 
 
 

 

𝑧𝑜𝑏𝑡 =
𝑥̅ − 𝜇𝑥̅

𝜎𝑥̅
 

 
 

𝑡𝑜𝑏𝑡 =
𝑥̅ − 𝜇𝑥̅

𝑠𝑥̅
 

 
 

𝑡𝑜𝑏𝑡 =
𝐷̅

𝑠𝐷̅
 

 
 
 

𝑡𝑜𝑏𝑡 =
𝑥̅1 − 𝑥̅2

𝑠𝑥1−𝑥2
 

 
 

 
𝜇𝑥̅ = 𝜇 

 
 

 

𝜎𝑥̅ =
𝜎

√𝑁
 

 
 

𝑠𝑥̅ =
𝑠

√𝑁
 

 
 
 

 

 

𝑠𝐷̅ = √
𝑆𝑆𝐷

𝑁(𝑁 − 1)
 

 

𝑠𝑥1−𝑥2 = √(
𝑆𝑆1 + 𝑆𝑆2

𝑛1 + 𝑛2 − 2
) (

1

𝑛1
+

1

𝑛2
) 

 

𝑟 =
∑ 𝑥𝑦 −

(∑ 𝑥)(∑ 𝑦)
𝑁

√(∑ 𝑥2 −
(∑ 𝑥)2

𝑁 ) (∑ 𝑦2 −
(∑ 𝑦)2

𝑁 )

 

 


